IF6025

IFA3004-BPKG

L

T

M12x 1

— -

ce g8

7 iR

=iy PNP

i H D g B
K e [mm] 4
hhik WA Ak A
R~ [mm] M12x1/L=71
T AR V] 10...36 DC
TEIIEFE [MA] 15; (24 V)
By 5 I
AR B
KA PNP

i HH Th B i il

[ B 4 DC 75 R e 5 KA vl 25

B [ i tH DC I RRE R I Al [mA] 250

B (34 it 5 11 R 4 R [mA] 400

B [ 454 DC [HZ] 400
i fR 32

o PRt R A I

I LR B
A i

TR B [mm] 4
BRI E B A St [mm] 4+10%
TAE R [mm] 0..3.25
BIE R S 1/ ANGHGR: 0.7/ #%4[: 0.5/ 45: 0.4/4: 0.3
bt [SrifE 4] 1..15

B I3 24t A [SrifE 4Lt -10...10
TAEMRAT:

TR IR [°C] -25...80

HAR A PR F) » 801648 i i i 4 6 P 1 VU 23556 44B % « Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — A" {5 B AS B8 5300 401 1 5 S R AR 2 U RER . — ZH-TW — IF6025-00 — 13.04.2023 — £



IF6025

IFA3004-BPKG

NI =30 IP 67
e /T
EMCE R EN 60947-5-2
MTTF [4F] 1948
AR BT B
Gk a] 100.5
HhE% WA Ak A
2 e 2z 245
ST [mm] M12x1/L=71
IRAAREE M12 x 1
e PO S-S e s R PC
BEURAS/ BRAEATE
R EilEENGS 1x LED, #ith,
B F
P G [i] g R B - 2
A& LAY 1 fHEL
AR
=8 2m, PVC; 3x0.34 mm?2
pLikz 2
BN

AR
BN = )
BU= B
BK = )

HAR A PR F) » 801648 i i i 4 6 P 1 VU 23556 44B % « Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — A" {5 B AS B8 5300 401 1 5 S R AR 2 U RER . — ZH-TW — IF6025-00 — 13.04.2023 — £



